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1. Compute the following integrals.
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2. Evaluate [sinzcosz dz by four methods:

a) the substitution u = cosz
b) the substitution v = sinz
c) the identity sin 2z = 2sin z cosz
d) integration by parts.
Explain the different appearances of the answers. How are they related?
AI= [-ud Q) T= ) fin(ad A
= -Jutc :-T\t 08 (2:)+C 5
= _ Ly, -

- SU aa JS Qqn( as & or ‘7) poqﬂu(ﬂl'ma c)hcl\odc of
W, Av.

gCQ ]%':Loi-low\ /e al(u‘asror/ b ) Y hCL\oT‘Sj

L)

=)

= Jsimldtca
/

3. Consider integrating sin™(x) cos™(z) with respect to z. When are each of the following
strategies useful? (Think about whether m and n are even or odd.)

a) Save a power of cos(z), use the Pythagorean identity to convert the others into powers of
sin(z), then substitute u = sin(z).

b) Use the half-angle formulas cos*(z) = 1(1 + cos(2z)) and sin®(z) = £(1 — cos(2z)).

¢) Save a power of sin(z), use the Pythagorean identity to convert the others into powers of
cos(z), then substitute u = cos(z).
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